D GO PHE FIvAT

: g Y1 BAC MATHS
400 : alal2] &y yull

........................................................................................................................................................ : (dys 40) Jo¥l Jlgall

1) e*+20e™*=12<0 2) e?*—3e*+2<0 --“‘ﬁl@;;jdlf
........................................................................................................................................................ : (Rays 40) bl Jlpall,

1) 4% 4 6% = 9% 2) 4% 4 2% =2 ---wdmuudi/ >

........................................................................................................................................................ : (s 40) &JLJ[“;H,AH

e* 14 eyt =2 x+y= /<- @J.\L:.al\‘ih; da
......................................................................................................................................................... v (D 40) el Jlpall

.x20d;.ic}a eﬁ2f+1--m}4hm;.m1

,\1:’\ NS

............................................................................................................................ » AN N (L\)h 40) (ualildl Jlgall

Jiall e f ol Glas) U6 ul f(x) = elxl \Uajmz_ e Cijaal Ll g f

Posed g(x) = S0 F() = T /B0 ol S sl s €, 5 G

 lglilal w;,;um A.Lm(_,_a T Chte lulae Dl C, 5 Gy & il —1

Q\‘R‘:” o T dpdall Gaadll dblas (iS) -2

N

................................................................................ < : (Ays 50) golall Jlpall

N7 ¢ st £(x) = €50 1 G R e cijed il f

lim S a5 £1(0) « /() « £(0) ! 1
........ A  (iaym 100) igs¥ alluall u © alill Jlpall

\ \, fO)=xe* —1: G R Je Gl f ol Sl Ll C oS

R < X/ twgdhall

rd
&/&wull «mj wﬂ A Y Cyliall dllee CES) g ¢ adnyed Aegena il e [l Gl el -1
4 A\ Y sl sl e o g Lo Yoan ol g f il s eyl -2

) O %l T g Gl 5 € % = 0 gibasl ase Ak 3 € (il 1l T el Alslen 381 =3
S0.01) J &ui dad ol —4
10,1 Jlaad ) iy © Ty S i f(x) = 0 Aolodl) G sl -
CC o & Ty (EY Cylidd) o) LJ“"‘:'L?:"‘?""“;&_G
(Eslel dyys 20 ) ol sl
x=03 x= =1 el ydial @l H5ae 3 C g jpandl mhadl dalies Causl

—— il Mgl ——

O htips:#/telegram.me/BAC MATHS 1 0964621810 — it jea bl 2

CamScanner - Lis &> guaall



-

L SBU A S K (:3__/{3)\@\3\ B-JJT‘; =

Doyt g

o) J

2 |
=2 =3= O -
4 5 9=3 Olgo D et 420" 12 <o

2 A 20 (. .
2 +G1) =23 €70 O = BN Y s
P5UY

2 4+ 5= 2 € —1Le 420 <O

_kad‘:o \\}Q}})\Ylb (e -2)(e*~10) <o

AN "

E‘n tie =1 (e*-2)(e~10) =0 =
A _
- LR W c -1 =0 \.p\\
(?) +(%?) —l=0 e*=2 pg=lar)
‘t:(%)x e’ —10=o J\S
t24t-1 = o et=io =)
X I—m In2 |nfo oo

D=V -Hoc = f+Y= 5

e —— o0—o0
Vo =15~
£ = =B _ —j4V5 _ S=llaz,latg]  SEA oo
T 24 T 2 7 /
(_&)"!__ —‘+F§ @
37 7 2 e -2e 2 <o
% 10 (3)= |a (F£5) (e 1)) <o
0 (415) @) e
. In /‘;——) e'-i=o “
- L,
—bAD _ —[-VF e®=1 5 Tx=o
te= 2a T T = \
2 7\'- Cx—l_—_o <
3) =< 7
\ B CY\:Z 7&: |n2_\
/.Q_ 2 O Us— -
x_ |v~f0 o) In2_ 420

CamsScanner - Liss &> saaall



AR U‘_’;‘J\’Z R )
Lopal O\M e Q})\ &g oS 242t -2 =0
5(")" -Vx -1 £ 5 t=2"
Co,rol M Js 32‘)9\ ) t24t -2 =0
3] ':Zlf,[ S {\__m (t-1)(t+2) =0
_—
g = g () b a
X zoe 2" = -2 &P 5
70— ezl tol=o ‘“
" - 7
el | zo t=
e (e%) 7o e
9'60) Z0 2= ] dye
o 4o Lo I 3
900 —+— Ty oy =
I |, 4] =o --— ()
I Zo 0 -Z;’/ =Y (2) ©
e‘r’tar—l\’ 7\0/_\(\ < RV NCRE
(A‘/_*TK 2 J’E-H} e v &M
- ujo—»u\ M| e @M=y
Tty = S _fw) J}-“A_\_u)i:» S %o (o I\ o in's
fog L ot S k| & e
= wS ] &5y e e
him to0) = lim S0 = 1 ==
Xt A th2tei=o < (k-0
A I == =
Flor) =1 O €= w-i=0o }((x”

CamScanner - s &> saaall



~ \ . )
OV Yo

:)F/(o) :3'(0) 9 f(o) = }(a)

~

V.

A

SUa < e
a=0 (LG G\ Zha e

Fo) =0 oo 3

2

G 2 G U T O

9
OCo, 0) Uy 1,

ﬁ):f’(o)(xm)-;f(o)
|75 3=x )

]

X
e |
,‘,11 't(u) p— I:‘m(‘ _ ):’. "j.

x> o nos -

S et e el F £ O
Lo)=-1 <4

o) ’%f,(()"‘) (N

,J;,a)\_;_pu;;@|/iigo oo b

Lo, ) d )

6o B/}L’L/u S < J= N

CE_DN oot ew (@ip (> =l
Fla)=gla) > Fay=3a)

ALY a > WY

:)P(a() =3
2 x
S T T el

< = () (@) LN
(€-1)(e) @ -1) ()
e r 2e<

N Q.Kti-\d%o (s d:g_’l,J\ f';';

et e

e 4 2.

2(&-1) = (@) ()
("~ )[2 el éx.i] —o

~(e"-) (€2t =0

[ Ve
(e,(_') (e"q)?':o
(e™-1)’=o

aaaaaaaaaaaaaa snall



FoO~ (1) = xt-(+1 =ne®

el C’.s’ C L 70 E\Jlaur’
\‘C/,/L;:—L\ b C &j X <o ’_\)\-PLS"

B _te ufs’}/\«;//(;)( CC’[}/:’:#
—o WC} J\J\
R pF L o ‘
flo—l v e £ G
70’0&) = ) e’(.‘— i'((x) = e’((x-H)

f’()k\ 20 —>

fo) == < =1 a
Je’(x) = Cos;v_.é""x‘
.‘JP,(O) = Co5(0) e’ =40 1

S, K

et Foo —FQ) o
)/:z w - I""'l W =0 - f(o)
o L QNS

/ )

/ "m Cs.n)‘k_' -

k‘ﬂ-ﬁa ¥

s —0
e (. =
( +') é_"ﬂK—| éﬂ'\- | < tar Ei
A= lii ':,l_::( SR _7—&%
'r(r.:—-‘ (
_ = (1) () =1
F-N= ' =z -g-L
= &t | <3¢ /i')j/
X |- -1 0 ‘/t";lDT:L ji,':dﬁﬁ:
DP’('K) e 0 -+
y 20 T d O WA\ IS}
_’__i__
§(’.*) \ | e_ / g—;j_m /+c0[ Q
) 6H Z_L’:-P 5‘_‘_; Oe(‘\)':"“l{ Lim foO = +
R—>
— 3
[/ _‘j:d?f(c)) (% ~o) i—f(o) ( (m Ferx) = (—=2) (0)
Wy o
UE = = f/ = 1 —
(0)=-L , Fo)=1 VIV PR
3= ()=o) - 1 feon
_ = ol ~
\’_/Je' 4§ = oA, = \ ,t'_”"we“‘o OC 3l <5
> N _ Lim Foo = Iim (—t ét—l)
Foo—3_ = A& [~ (x-1) RN
= xe —A =xn(e )
x mad . = :t’:‘:’:.fm (—-C‘t- —‘) —-O—-\*—l
e —= 0 ==
;((é{‘_.'-i) — O + L 3 -1 QJJL__B—"\)) Y\ﬂ\_\.\
g | T e I T G7C C =00 _op & T o\

CamScanner - Lis &> guaall



@

P

Fa+h) 2 Fa) +Fen h
h=00 2 Q=0

F(0,01) = Fal -f—aPéoJ (o.01)

1:-]-){ AN=-}
!
L@ Loy ity e
b 0 S
SSTe= {je(n’,d)(:: !,(e_ "’[Qf)(

P e [£1,0]) I\SH e

jj(')k\ <o

/3 =

z= -[ + 0.0f
F(o,0) = =099

\

RSy DENT Jap le @

PPNs3 Y of (g i) 2 ] ] gt

HN 558 F(Inf o) 2] oo 0\M

&~

x
- | = Y.
Ll )f'r/-‘)_/‘-':'/"c_}/cm DE QQ——P

_l '“‘/ +CU( &
)’Cﬂd*; JO()()’:O aobeil LYy
/7 .

A

o, 1L o 8y SOy U
&éu(j‘ ))}/)}/) (__:,/—'_,_’, (}\

o, 1L ol

FE)=- <o \209‘0’*02(0 <o

F(1)= e~ >0
ST ANLINEL o st
eze = 5 - - - -
L P2 I Sfome =, L

L st e

AL & 29,10

dL;”\

CamsScanner - Liss &> saaall



